62— x =3.0 x= 59. 0
1
( B=g( A A=59.0%20= 1180
2) X (x—x)? 77. 2
3) 2
Z=x+y z z=24 y=59.04+61.0=  120. 0
z (z—2z)?
(z—2)={x+y)—(x+ p)P={(x—2)+(y—y)}?
=(x—2)?+(y— 9 +2x—x)(y— »)
2 (x—2)2+(y— ) +2(x— x)y—y)
(x—x)* (y—»)* 2x—x)y—y)
(x—x)* (y—y)* Xy
(x—x)y— ) —37.4
(z ) ={(x )+(y )} +2 (—37.4)
(z ) <{(x )+ (y )} @
{(x=2)y—"y) }
4 _
@ox s SN R ICEER
(x—x)y—y) —37.4 r<0
( ) @ 0
x 575 62.0 ©)
(5) P 55 59 Q
60 64
Q )
6 Q
2%(35 5440 5460 10465 2470 2475 1)
=%<7 5+8 5+12 10+13 2+14 2+15 1)= 52. 8
4
4 528+4= 56. 8
(1) P 59.0 3
0
0 5
7 O 40 P 25 =0 Q o5 =02



54 P 20 =0.35 Q 55 =0.4
Q
4 5
65 P 20 =0.2 Q 55 =0.2
3 3
70 P %_0.15 Q %—0.12
P



